



Dark Matter models beyond the WIMP paradigm

Michael J. Baker JGU Mainz

Les Rencontres de Physique de la Vallée d'Aoste - 7 March 2017

• Beyond the thermal WIMP paradigm

 Vev Flip Flop: Dark Matter Decay between Weak Scale Phase Transitions

• Beyond the thermal WIMP paradigm

 Vev Flip Flop: Dark Matter Decay between Weak Scale Phase Transitions









• Beyond the thermal WIMP paradigm

 Vev Flip Flop: Dark Matter Decay between Weak Scale Phase Transitions Beyond the thermal WIMP paradigm



Beyond the thermal WIMP paradigm

 Vev Flip Flop: Dark Matter Decay between Weak Scale Phase Transitions

Based on <u>1608.07578</u>, MJB & Joachim Kopp

• Vev Flip Flop: Model



$$\mathcal{L}_{\text{Yuk}} = y_{\chi} S_3^{\dagger} \overline{\chi} \Psi_3 + y_{\chi}' S_3^{\dagger} \overline{\chi} \Psi_3'$$
$$+ y_{\Psi} \epsilon^{ijk} S_3^i \overline{\Psi_3^j} (\Psi_3'^k)^c + h.c.$$

• Vev Flip Flop: Model



$$\mathcal{L}_{\text{Yuk}} = y_{\chi} S_3^{\dagger} \overline{\chi} \Psi_3 + y_{\chi}' S_3^{\dagger} \overline{\chi} \Psi_3'$$
$$+ y_{\Psi} \epsilon^{ijk} S_3^i \overline{\Psi}_3^j (\Psi_3'^k)^c + h.c.$$

$$y_{\chi} \sim y_{\chi}' \sim 10^{-7} \qquad \qquad y_{\Psi} \sim 1$$

• Vev Flip Flop: Model



$$V(H, S_3) = -\mu^2 H^{\dagger} H + \lambda (H^{\dagger} H)^2 -\mu_S^2 S_3^{\dagger} S_3 + \lambda_S (S_3^{\dagger} S_3)^2 + \lambda_3 (S_3^{\dagger} T^a S_3)^{\dagger} S_3^{\dagger} T^a S_3 + \alpha H^{\dagger} H S_3^{\dagger} S_3 + \beta H^{\dagger} \tau^a H S_3^{\dagger} T^a S_3$$

$$V^{\text{eff}} = V^{\text{tree}} + V^{1\text{-loop}}$$
$$= V^{\text{tree}} + \sum_{i} \frac{n_i T}{2} \sum_{n=-\infty}^{+\infty} \int \frac{d^3 \vec{k}}{(2\pi)^3} \log\left[\vec{k}^2 + \omega_n^2 + m_i^2(h, S)\right]$$

$$V^{\text{eff}} = V^{\text{tree}} + V^{\text{CW}} + V^T + V^{\text{daisy}}$$

$$\begin{split} V^{\text{eff}} &= V^{\text{tree}} + \underline{V^{\text{CW}}} + V^T + V^{\text{daisy}} \\ V^{\text{CW}}(h,S) &= \sum_i \frac{n_i}{64\pi^2} m_i^4(h,S) \left[\log \frac{m_i^2(h,S)}{\Lambda^2} - \frac{3}{2} \right] \end{split}$$

$$V^{\text{eff}} = V^{\text{tree}} + V^{\text{CW}} + V^T + V^{\text{daisy}}$$

$$V^{\rm CW}(h,S) = \sum_{i} \frac{n_i}{64\pi^2} m_i^4(h,S) \left[\log \frac{m_i^2(h,S)}{\Lambda^2} - \frac{3}{2} \right]$$

$$\begin{split} m_A^2(h,S) &= -\mu_S^2 + \frac{1}{2}\alpha h^2 + \lambda_S S^2 & m_Z^2(h,S) = \frac{1}{4}(g^2 + g'^2)h^2 \\ m_{G^0}^2(h,S) &= -\mu^2 + \lambda h^2 + \frac{1}{2}\alpha S^2 & m_\gamma^2(h,S) = 0 \\ m_{W^\pm}^2(h,S) &= \frac{1}{4}g^2(h^2 + 4S^2) & m_t^2(h,S) = \frac{1}{2}y_t^2h^2 \end{split}$$

$$V^{\text{eff}} = V^{\text{tree}} + V^{\text{CW}} + V^T + V^{\text{daisy}}$$

$$V^{\rm CW}(h,S) = \sum_{i} \frac{n_i}{64\pi^2} m_i^4(h,S) \left[\log \frac{m_i^2(h,S)}{\Lambda^2} - \frac{3}{2} \right]$$

$$\begin{split} m_A^2(h,S) &= -\mu_S^2 + \frac{1}{2}\alpha h^2 + \lambda_S S^2 \\ m_{G^0}^2(h,S) &= -\mu^2 + \lambda h^2 + \frac{1}{2}\alpha S^2 \\ m_{W^{\pm}}^2(h,S) &= \frac{1}{4}g^2(h^2 + 4S^2) \end{split} \qquad \begin{split} m_Z^2(h,S) &= \frac{1}{4}(g^2 + g'^2)h^2 \\ m_{Q^{\pm}}^2(h,S) &= 0 \\ m_Z^2(h,S) &= 0$$

$$i \in \{A, G^0, W^{\pm}, Z, \gamma, t, h - S, S^+ - S^- - G^+\}$$

$$V^{\text{eff}} = V^{\text{tree}} + V^{\text{CW}} + V^T + V^{\text{daisy}}$$

$$V^{\rm CW}(h,S) = \sum_{i} \frac{n_i}{64\pi^2} m_i^4(h,S) \left[\log \frac{m_i^2(h,S)}{\Lambda^2} - \frac{3}{2} \right]$$

$$\begin{split} m_A^2(h,S) &= -\mu_S^2 + \frac{1}{2}\alpha h^2 + \lambda_S S^2 \\ m_{G^0}^2(h,S) &= -\mu^2 + \lambda h^2 + \frac{1}{2}\alpha S^2 \\ m_{W^{\pm}}^2(h,S) &= \frac{1}{4}g^2(h^2 + 4S^2) \end{split} \qquad \begin{split} m_Z^2(h,S) &= \frac{1}{4}(g^2 + g'^2)h^2 \\ m_{Q^{\pm}}^2(h,S) &= 0 \\ m_Z^2(h,S) &= 0$$

$$i \in \{A, G^0, W^{\pm}, Z, \gamma, t, h - S, S^+ - S^- - G^+\}$$

Coleman & Weinberg, 1973

$$V^{\text{eff}} = V^{\text{tree}} + V^{\text{CW}} + V^T + V^{\text{daisy}}$$

$$V^{\text{eff}} = V^{\text{tree}} + V^{\text{CW}} + V^T + V^{\text{daisy}}$$

$$V^{T}(h,S) = \sum_{i} \frac{n_{i}T^{4}}{2\pi^{2}} \int_{0}^{\infty} dx \, x^{2} \log\left[1 \pm \exp\left(-\sqrt{x^{2} + m_{i}^{2}(h,S)/T^{2}}\right)\right]$$

$$V^{\text{eff}} = V^{\text{tree}} + V^{\text{CW}} + V^T + V^{\text{daisy}}$$

$$V^{T}(h,S) = \sum_{i} \frac{n_{i}T^{4}}{2\pi^{2}} \int_{0}^{\infty} dx \, x^{2} \log\left[1 \pm \exp\left(-\sqrt{x^{2} + m_{i}^{2}(h,S)/T^{2}}\right)\right]$$

$$V^{\text{eff}} = V^{\text{tree}} + V^{\text{CW}} + V^T + V^{\text{daisy}}$$

$$V^{\text{eff}} = V^{\text{tree}} + V^{\text{CW}} + V^T + V^{\text{daisy}}$$



$$V^{\text{eff}} = V^{\text{tree}} + V^{\text{CW}} + V^T + V^{\text{daisy}}$$



$$V^{\text{eff}} = V^{\text{tree}} + V^{\text{CW}} + V^{T} + \underline{V^{\text{daisy}}}$$
$$\bigcirc + \bigcirc + \bigcirc + \bigcirc + \cdots + \cdots$$

$$V^{\text{eff}} = V^{\text{tree}} + V^{\text{CW}} + V^{T} + \underline{V^{\text{daisy}}}$$

$$\bigcirc + \bigcirc + \bigcirc + \bigcirc + \bigcirc + \cdots = \bigcirc + \cdots =$$

$$V^{\text{eff}} = V^{\text{tree}} + V^{\text{CW}} + V^{T} + \underline{V^{\text{daisy}}}$$

$$\bigcirc + \bigcirc + \bigcirc + \bigcirc + \bigcirc + \cdots = \bigcirc + \cdots =$$

 $V^{\text{daisy}} = -\frac{T}{12\pi} \sum_{i} n_i \left(\left[m_i^2(h, S) + \Pi_i(T) \right]^{\frac{3}{2}} - \left[m_i^2(h, S) \right]^{\frac{3}{2}} \right)$

$$V^{\text{eff}} = V^{\text{tree}} + V^{\text{CW}} + V^{T} + \underline{V^{\text{daisy}}}$$

$$\bigcirc + \bigcirc + \bigcirc + \bigcirc + \bigcirc + \cdots = \bigcirc + \cdots =$$

$$V^{\text{daisy}} = -\frac{T}{12\pi} \sum_{i} n_i \left(\left[m_i^2(h, S) + \Pi_i(T) \right]^{\frac{3}{2}} - \left[m_i^2(h, S) \right]^{\frac{3}{2}} \right)$$

$$\Pi_{S,A,S_R^+,S_I^+,S_R^-,S_I^-} = \frac{T^2}{6} \left(3g^2 + \alpha + 2\lambda_3 + 4\lambda_S \right)$$

$$V^{\text{eff}} = V^{\text{tree}} + V^{\text{CW}} + V^{T} + \underline{V^{\text{daisy}}}$$
$$\bigcirc + \bigcirc + \bigcirc + \bigcirc + \cdots = \bigcirc + \cdots =$$

$$V^{\text{daisy}} = -\frac{T}{12\pi} \sum_{i} n_i \left(\left[m_i^2(h, S) + \Pi_i(T) \right]^{\frac{3}{2}} - \left[m_i^2(h, S) \right]^{\frac{3}{2}} \right)$$

$$\Pi_{S,A,S_R^+,S_I^+,S_R^-,S_I^-} = \frac{T^2}{6} \left(3g^2 + \alpha + 2\lambda_3 + 4\lambda_S \right)$$

Dolan & Jackiw, 1974



$$\langle S \rangle \neq 0 \implies \mathcal{L} \supset y_{\chi} \langle S \rangle \overline{\chi} \Psi_3 + y'_{\chi} \langle S \rangle \overline{\chi} \Psi'_3$$





$$\dot{n}_{\chi}^{j} + 3Hn_{\chi}^{j} = -\frac{\Gamma}{\gamma^{j}}(n_{\chi}^{j} - n_{\chi}^{j,\text{eq}})$$
$$H^{2} = \left(\frac{\dot{a}}{a}\right)^{2} = \frac{8\pi G_{N}}{3}(\rho_{\text{SM}} + \rho_{\chi})$$
$$\dot{\rho}_{\text{SM}} = 4\rho_{\text{SM}}\frac{\dot{T}}{T} = m_{\chi}\Gamma\sum_{j}(n_{\chi}^{j} - n_{\chi}^{j,\text{eq}}) - 4H\rho_{\text{SM}}$$









12/14





$$|F^{\gamma\gamma}|^2 = (|F_W^{\gamma\gamma}|^2 - |F_f^{\gamma\gamma}|^2 - |F_{S_3}^{\gamma\gamma}|^2)^2$$



$$|F^{\gamma\gamma}|^2 = (|F_W^{\gamma\gamma}|^2 - |F_f^{\gamma\gamma}|^2 - |F_{S_3}^{\gamma\gamma}|^2)^2$$

$$F_{S_3}^{\gamma\gamma} = \frac{\alpha_{\rm EW}}{\pi} \alpha \left[1 - \frac{4m_{s^{\pm}}^2}{m_h^2} f\left(\frac{4m_{s^{\pm}}^2}{m_h^2}\right) \right]$$



14/14

• Thermal WIMPs are being probed, so far without success

- Thermal WIMPs are being probed, so far without success
- New mechanism for giving the dark matter relic abundance

- Thermal WIMPs are being probed, so far without success
- New mechanism for giving the dark matter relic abundance
- Presented a successful toy model

- Thermal WIMPs are being probed, so far without success
- New mechanism for giving the dark matter relic abundance
- Presented a successful toy model
- Which works in a large parameter space

- Thermal WIMPs are being probed, so far without success
- New mechanism for giving the dark matter relic abundance
- Presented a successful toy model
- Which works in a large parameter space
- Outlook: More realisations,
 - LHC phenomenology,
 - gravitational wave signals,
 - baryogenesis,...